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RO E - - - - - - - - - - - -
ESTE 4A58 | 5A28 | 6HA7H | 7TH6H | 8H2H | 9HA6H | 10448 | 11A8H | 12A5H | 1A1A | 2A1A | 3A5H
Hw DA ML L L L L L ML L HEL ML L L
i | BEEORR | - - - - - - - - - - -
LR fhi s ES e 47118 | 5498 [ e6H14n | 7H11H | 8H8H | 9A12H [10A10H [ 114148 [ 128118 | 1H9H | 2H6R | 3H13H
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o5 R Hw DA ML L L L L L ML ML L L L L
HLE IO E - - - - - - - - - - - -




4 KE AR
(1) (R HRALE K

I H | Eihr | ERvEf H 5 H 6 H H 8 H H 104 114 124 1 H 2H H
I =Y 1Y = AHTTH [ 5H9H [6H2IH [7HIT SHSH [9HI2H [TOHIOH[IIHT4HTI2HI7H] 1H9H [2HI3H [3HI3H |
it A A H 40220 [5023H | 7JJ4H [7H24H [8J22H [ 9/27H [10H23H[1125H[1224H] 1J22H [2H25H [ 3124 H
REAAVERE 58~8.6] 6.9 7.1 6.9 6.9 7.0 7.1 7.1 6.6 7.0 7.1 7.0 7.0
BOD mg/1 60 1.5 1.4 0 1.5 1.2 0.7 0.6 0 0.6 1.5 0.9 0
COD mg/1 - 4.3 4.4 3.3 2.8 3.6 4.4 4.3 1.3 2.5 2.5 2.7 2.3
SS mg/1 60 0 0 0 0 0 0 0 0 0 0 0 0
SR me/] — 8.3 7.4 7.2 5.8 6.3 0 6.9 5.3 5.1 5.9 5.0 5.3
PRI H - - - = = 9120 - - = - - -
i A Pfr H - - - - - 10710 - - - - - -
WRIV LR OZDAEY] mg/l | 0.03 - - - - - <0.003 - - — — - -
v ALE W) mg/1 1 - - - - - <0.05 - - - - - -
AR 5 me/1 1 - - - - - <0.1 - - - - - -
R O DI E mg/l | 0.1 - - - - - <0.005 - - - - - -
I IVA=IN %=L 7] mg/l | 0.5 - - - - - <0.02 - - - - - -
MEXOLOMEY | me/l | 0.1 - - - - - <0.005 - - - - - -
ABEROT LI APEOMOKGUEEM] mg/] 0.005 — — — - - <0.0005 - - - - - -
TAXN ARG EY | mg/l [mmsecs - - - - - Af - - = - - -
RUIELE T ==L mg/l | 0.003 - - - - - <0.0005 — — — - - -
N /opTFlLy mg/1 0.1 - - - - - <0.0005 - - - - - -
ANV ES mg/1 0.1 - - - - - <0.0005 - - - - - -
DY mg/1 0.2 - - - - - <0.0005 - - - - - -
F R e mg/l | 0.02 - - - - - <0.0005 - - - - - -
12— /aoxhy mg/l | 0.04 - - - - - <0.0005 - - - - - -
1,1-/anxFlLy mg/1 1 - - - - - <0.0005 — — — — — -
VA-12-v7eaxily | mg/l 0.4 - - - - - <0.0005 - - - - - -
1,1,1-N7eazly mg/1 3 - - - — - <0.0005 - - - - — -
1,1,2-F)yonzyy mg/l | 0.06 - - - - - <0.0005 - — — - - -
1,3-v/an o~y mg/l | 0.02 - - - - - <0.0005 - - - - - -
FUZ 5 mg/1 | 0.06 - - - - - <0.006 - - - — - -
a2 mg/l | 0.03 - - - - - <0.003 - - - - - -
FANLTIINT mg/1 0.2 - - - - - <0.0006 - - - - - -
NP mg/1 0.1 - - - - - <0.0005 - - - - - -
ELVROEDOLEY) | mg/l 0.1 - - - - - 0.002 - - - - - -
io%&(}%@{f\% mg/1 50 - - - - - 0.20 - - - - - -
SEXPZOWEY | mg/l 15 - - - - - 0.36 - - - - - -
LA4-—VAXY mg/1 0.5 - - - - - <0.005 - - — — - -
7x/)—)VE mg/1 5 - - - - - <0.5 - - - - - -
i) N DL ED mg/1 3 - - - - - <0.02 - - - - - -
G &U%Mh/\% mg/1 2 - - - - - <0.01 - - - — - -
BROZ DAY GRS | me/l 10 - - - - - 0.11 - - - - - -
~ AR OEOEY Gt | me/1 10 - - - - - 0.01 - - - - - -
7a KOO EY | me/l 2 - - - - - <0.02 - - - - - -
ToE=THER, EdEs rommsrar ] mg/| 200 — - - - - 0.7 — — — — — —
Qv e | me/l D - - - - - <1 — — — - — —
A H - - - - - 9H12H - - - - - -
i A DU H - - - - - 10725 H - - - - - -
AAAFLAH e TEQ/L] 10 - - - - 0 - - - - - -
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| FExEE | mS/m [ — 20 21 18 16 15 13 14 13 12 17 16 19
B H - - - - - 9 12H — - - - - -
i i H — — — — — 10H10H - - - - - -
7 )L )L K ER me/l |misnzoce — - — — — ke — — _ _ _ _
KR mg/l | 0.0005 - - - - - <0.0005 - - - - - -
HEIT L mg/l [ 0.003 — — — — — 0.0005 - - - - - -
&0 mg/l [ 0.01 - - - - — <0.001 - - - - - -
Nz o mg/l [ 0.05 - - - - — <0.005 - - - - - -
e mg/l | 0.01 - - - - - <0.001 - = — - - -
/jé‘f/T‘/ me 1 [|muishmoze — — — _ _ Z: ﬁtf — — — — — —
ﬂ'sUiJﬁ'ﬂjt\\7:|::/l/ mg/l | mibisneecy - - - - - A H - - - - - -
UGS mg/l | 0.01 - - - - - <0.0005 - - - - - -
S a0 mg/l | 0.01 - - - - - <0.0005 - - - - - -
D=y % mg/1 [ 0.02 - - - - — <0.0005 - - - - - -
RERAres mg/l | 0.002 - - - - — <0.0002 - - - - - -
1,2 Juaxhy mg/l | 0.004 - - - — — <0.0004 — — = = = =
1,1-v/naxsLy mg/1 0.1 - - - - - <0.0005 - - - - - -
L2y pensly (AR Or AEoasm | me/l 0.04 - - - - - <0.0005 - - - - - -
L1, 1-F/aaziy mg/1 1 - - - - - <0.0005 - - - - - -
1.1,.2-Njanzhy mg/l | 0.006 - — — — — <0.0005 - - - - - -
1.3— /nu7u~y mg/l | 0.002 - — — — — <0.0002 - - - - - -
FIZ A mg/1 | 0.006 - - - — — <0.0006 — — = = = =
S~ mg/l [ 0.003 - - - - - <0.0003 - - - - - -
FA TN T mg/l | 0.02 - - - - - <0.0006 - - - - - -
~ P mg/l | 0.01 - - - - - <0.0005 - - - - - -
Az mg/l | 0.01 - — — — — <0.001 - - - - - -
LA-AxH mg/l [ 0.05 - - - - — <0.005 - - - - - -
VOO L, me/l | 0.002 - - - - - 0.0002 — - - - - -
PEAL = — — - - 9 12H - - - - - -
s he B A - - - - - 10/J25H - - - - - -
BT [pe-TEQ/L] 1 — — - - - 0.039 — — — — — —
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e e [ os/m T = X X
2ais - - - - - - - - - - - -

Y] - - - - - - - - - - -

7 L )L KER meg/] |y — - - - - — — — — — — —
KK SR mg/l | 0.0005 - - - - - - — — — — — —
HEIV A mg/l1 | 0.003 - - - - - - - - - - - -

&n mg/1 0.01 - - - - - - - - - - - -

AN AN mg/l [ 0.05 - - - - - - - - - - -
(e mg/1 0.01 - - - - - - - - - - - -
BT mg/1 |mitisnmoce — — — — — — — — — — — —
R T =)L mg/] | msnmocy — — - - - - — — — — — —
MyeprFLy mg/1 0.01 - - - - - - - — — — — —
7h7yupxFLy mg/1 0.01 - - - - - - - - — — — —
A== % mg/1 0.02 - - - - - - - - - - - -
ERArES mg/1 | 0.002 - - - - - - - - - - - -
1,2—v/eaxly mg/l | 0.004 - - - - - - - - - - - -
L1=¥/ppxfly mg/1 0.1 - - - - - - - - - - - -
L2y pensly Ak or A moaim]  me/l 0.04 — - - - - - - - - - - -
1,1,1-Nepziy mg/1 1 - - - - - - - - - - - -
1,1,2-p)yunxhy mg/l | 0.006 - - - = = = = - - - - -
1,3 yan7any mg/l | 0.002 - - - - - - - - - - - -
FUZ A mg/l | 0.006 - - - - - - - - - - - -
e mg/l | 0.003 - - - - - - - - - - - -
FATIVT mg/1 0.02 - - - - - - - — — — — —
A LV mg/1 0.01 - - - - - - - - - - - -
L mg/1 0.01 - - - - - - - - - - - -
LA-UAFH mg/1 0.05 - - - - - - - - - - - -
ooz F Lo me/l | 0.002 = = = = = = = = = = = -
24i = = = = = = = = = = = =

0 S - - - - - - - - - - - -
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